Copyright Lappset Group Ltd

% LAPPSET.
CLOXX

SECURING

DATE: 3.10.2012

1(1)

max. 25 Nm

max. 25 Nm

max. 25 Nm

max. 15 Nm

max. 15 Nm

Hox!

Security plugs
are included
only for
selected
products.

Pultit on kiristettdvd lopulliseen kireyteen,
ennen turvapinnien asennusta.

903699 /

(903543)

&

<
O

Note!

(@]
o
W
~]
o
(@]
D

(903544) 'i

<
N

Tighten bolts properly,
before installing security plugs.




% LAPPSET. 702001

+ O

l | 4
COppSCtT—oroap—cta

a)

CLOXX DATE:  14.8.2007 1(1)
(1) 902256 pcs|(2) 909628 P3|
3 |
@60*150 | | M10@1OO ]
PCS| PCS)
PCS) PCS)
PCS| PCS|
PCS| eS|
(A L
%
PCS| PCS|
=21 J== +0 | |
i b
DET 1 DET 2
@10 7 90 (x3) M10x100
902256
78]

A /ﬁ/ﬂ //Q/A /A o
Concrete -

A

Va

gt el d
L) T

opyrtgh

902256




% LAPPSET. 902134

CLOXX DATE:  3.5.2013 1(2)

Copyright Lappset Group Ltd

(1) 901803 |pcs|(2) 901994 |pes

DET 1, 2, 3, 4, 5, 6, (8) ®/

M12x90 2190
(3) 902096 |pes|(a) 902234 [pes
DET 8 @/ 4 | 6]
— M12x120 | | M2 | |

X

L\ @ L R

DO NOT TIGHTEN THE ] ]
JOINTS UNTIL THE T ]
STRUCTURE IS COMPLETE.




% LAPPSET.

902134

CLOXX DATE: 3.5.2013 2(2)
DET 1 DET 2 DET 3
FIRST BOLT
~ FIRST BOLT INSTALLATION
— 1% ( 3 INSTALLATION TMOX‘ SONm.
\ Max. 20Nm.
T
LAMINATE OR WQOD ’\/H 2><9©
(901803)
M12
(902234) (902234)
DET 4 DET 5 DET 6

901994

901994

Max. 20Nm.
M12x120
( )

FIRST
BOLT
INSTALLATION

Max. 20Nm.

MT2
(902234)

M12x120

REMEMBER
FINAL
TIGHTENING

902096 (902096)
DET 7 902157 or DET 8 902157 or

904747 904747

FREE HOLE FREE HOLE

Copyright 1998 Lappset Group Ltd






